For each traffic analysis zone (TAZ), colors indicate the 2019 to 2050 gain in employer/business accessibility
to households, within a typical transit commute, relative to the average 2019 to 2050 gain for the highlighted area.
The labels indicate the 2019 to 2050 gain in number of households accessible to each TAZ's workplaces.

(+12K = gain of 12,000 households) More info: https://bit.ly/2QRt9gO Point of the Mountain

2050 Gain - Employer/Business Access to HH: Transit gﬁI .é .
*

+0 +0 +0 +0 +5 +1K  +1K i8> +2K +3K +4K +9K +9K +6K STKA7K  41OK+10K +6K +9K +5K +4K 43 +3K 42K K K e 5 ;{;- F (’O’-”
i +1K 7000 S B 7 - o ” A } S5
il 1 + +, o
0 +0 w0 KK ek Kk .97 *3K +5K +4K #10K +8K +0K o o +1 27K +3K 42K \ N
{ o
7800 S +10K X ’ TR o
+0 - K L4 N
0 7800 S ik Lo HOK*12K K . f o
+0 +0 +3K +1K+6K +6K - +6K b 7 N
+0 +752 4206 e 11K F11K+10K o, z S / # X
1K ’ b A
+3K T +5K = £ ol
X HoR0 o TR O g Lok stk +6K e
9000 S +10K + [ 1
+0 +2K 42K =
+0 0, K <ERT et ‘;‘;"’
+0 + o N
2 K +7K +4K +4K +4K +5K /'Ij* o] ¥ 3
+ ' p - £
e o o
A 2
+0 +4K Sy e -
+0 +5K | +5K 46K ¥
STATE +0 N §8Kuth \ JVING
+0 KK A et ) )
!
+0 an +2K  +3K - l 4
+0 +0 \ .('
~ o,
+0 3K — Y %
+0 | +4K *3K K 3 / % A L4
11800'S 5 : g _ = o vb P \
+0 A 42K 43K | 42K +aK 45K 46K HAKS ; d 49 1 1
- k12600 % 7 ,»“
" +3K PR Py | Vg é Wi [ % /: o
ax Riverton e s [0 e
+4K +2K +2 iy < i ® Ty
| 7 y
+0 <3 (
+0 y
+4K ‘ "
-
+5K +2K ’;{ o
+3K 42K o
+0
{
+0
Accessibility Gains
2019 to 2050 K e e
+3K +1K
2K +1K
4K +1K +0 +2K +4K +288 u +624
% of area average 2008
+3K 3K
2k +2K +4K +5K +3K  +3K oi +1K
«<| M > 180% ¢ "k o
+1Ka2k 42K J./ BES *2K gk +2K 43K 42K +1K +1K
I 160% to 180% +15K —
+0 +2K  +3K i L f20KH2K 16K 7K +5K +6K +6K
9 9 Lak a0 *20K 1ok +4K
140% to 160% + T13K H7KHIBK +6K +7K 46K 43K +5K +5K
+0 0, 0, 4K +3K +0 +10K +3K
o 120% to 140% +9K | +8K *10K+6K +8K +5K +4K  +6K +3K
+
+2K  +1K +0 +10K +7K
0 Average to 120% +7K 47K +7K | +6K +8K 48K +7K = +5K +3K
769 +0 +5K
80% to Average +0 +2K o« +6K +5K +6K +4K +5K +4K
"
+7K
60% to 80% i +0 ) 15+11K HTK 46K 44K +5K
gt +3K+8K#2K  ,  +4K
+ +3K 42K 3K L1k
40% to 60% +0 2K +3K
+1K
+135+2K
I 20% to 40% v
+0 +4K +:25 +4K
B < 20%
K +594
" w71 KTk +4K
+11 w8 saKkeak oK 45K




